

$$g(x) = f(\tan^{-1}x + \sqrt{y} \cos x) \rightarrow g'(x) = y(1 + \tan^{-1}x) \tan x - \sqrt{y} \sin x$$

$$x = \frac{\pi}{4} \rightarrow g'(\frac{\pi}{4}) = (y(1+1) \times 1 - \frac{\sqrt{y} \times \sqrt{y}}{y}) f'(1 + \sqrt{y} \times \frac{\sqrt{y}}{y})$$

$$\sqrt{y} = (f-1) \& f'(y) \rightarrow f'(y) = \frac{\sqrt{y}}{y}$$

$$g(x) = \frac{y}{y - \cos x} \rightarrow g'(x) = \frac{-(-\sin x)}{(y - \cos x)^2} \rightarrow g'\left(\frac{\pi}{2}\right) = \frac{+1 \times \frac{1}{y}}{(y + \sqrt{\frac{y^2}{4}})^2} = \frac{\frac{1}{y}}{(y + \frac{1}{2}\sqrt{y})^2} = \frac{\frac{1}{y}}{(y + \frac{1}{2}\sqrt{y})^2}$$

$$f(x) = \frac{1 + \cos^2 x}{f - \cos^2 x} \rightarrow f'(x) = \frac{(x - \sin x \times \cos^2 x)(f - \cos^2 x) - (x \sin x \times \cos x)(1 + \cos^2 x)}{(f - \cos^2 x)^2}$$

$$f'\left(\frac{\sqrt{x}}{f}\right) = \frac{\frac{1}{\sqrt{x}} - \left(\frac{1}{f}\right) \times \left(\frac{\sqrt{x}}{f}\right)(f - \frac{\sqrt{x}}{f}) - \left(\frac{\sqrt{x}}{f}\right) \times (1 - \frac{\sqrt{x}}{f})}{\left(f - \frac{\sqrt{x}}{f}\right)^2} = \frac{\left(\frac{1}{\sqrt{x}} \times \frac{1}{f}\right) - \left(\frac{\sqrt{x}}{f}\right) - \frac{1}{f}}{\frac{149}{14}} = \frac{\frac{149}{14}}{\frac{149}{14}} = 1$$

$$f'(x) \rightarrow \lim_{x \rightarrow \frac{\sqrt{a}}{f}^+} \frac{(fx - \sqrt{a})\sqrt{ax} - 0}{x - \frac{\sqrt{a}}{f}} = f\sqrt{ax} = f\sqrt{\frac{\sqrt{a}}{f}a} = \sqrt{a}\sqrt{f}$$

$$f'(x) \rightarrow \lim_{x \rightarrow \frac{\sqrt{a}}{f}^-} \frac{-(fx - \sqrt{a})\sqrt{ax} - 0}{x - \frac{\sqrt{a}}{f}} = -f\sqrt{ax} = -f\sqrt{\frac{\sqrt{a}}{f}a} = -\sqrt{a}\sqrt{f}$$

$$y\sqrt{3a} - (-y\sqrt{3a}) = y\sqrt{3} \rightarrow \sqrt{3a} = \sqrt{3} \rightarrow \sqrt{a} = \frac{\sqrt{3}}{y} \rightarrow$$

$$f'(t) = -a, \quad f(t) = y - fa$$

$$f_c(f) + f'_c(f) = -1 \rightarrow \gamma - f_a - a = -1 \rightarrow \omega a = \gamma \rightarrow a = \frac{\gamma}{\omega}$$

$$f'(x) = -0.14$$

$$\rightarrow \frac{(120 - 120\sqrt{14})14}{14 \times 14} = \frac{120 - 120\sqrt{14}}{14}$$

$$f'(\frac{\sqrt{x}}{2}) - y'(\frac{\sqrt{x}}{2}) = \frac{150 - 128\sqrt{x}}{256} - \frac{1}{19 + \sqrt{x}} = \frac{-139}{256} = -\frac{1}{2}$$

$$y = \frac{\eta' + a}{V}$$

$$y = \frac{ax-1}{x+1}$$

$$\rightarrow \frac{x+a}{v} = \frac{9x-1}{12x+1}$$

$$\rightarrow x^3 + (4 - \sqrt{a})x + 1 = 0$$

$$\Delta = 0 \rightarrow (14 - v_a)^2 - 1 \times 1 \times 1 = 0 \rightarrow (14 - v_a)^2 = 1 \Rightarrow \sqrt{\quad}$$

$$14 - v_a = 12 \rightarrow v_a = 2 \rightarrow a = \frac{2}{V}$$

$$14 - v_a = -12 \rightarrow v_a = 26 \rightarrow a = 26$$

کے ہواے قابل مہربوں

$$f(x) = 0 \rightarrow 1 + 2a - b = 0 \rightarrow 1 - 2f - b = 0 \rightarrow b = -14$$

$$f'(x) = 0 \rightarrow 12 + a = 0 \rightarrow a = -12$$

$$-14 - (-12) = -2$$

$$f(x) = \sin^n(x^2), \lim_{x \rightarrow 0} \frac{f(x)f'(x)}{(1-\cos x)^n} = \frac{x^n \cdot x^{n-1} \cos(x^2)}{(1-\cos x)^n} \rightarrow \lim_{x \rightarrow 0} \frac{x^{2n-1} \cos(x^2)}{(1-\cos x)^n}$$

$$f'(x) = n \sin^{n-1}(x^2) \cdot 2x \cos(x^2)$$

$$\frac{\sin x \sim x}{1-\cos x \sim \frac{x^2}{2}} \rightarrow \frac{(x^n)(1)(x^{2n-1})}{\frac{x^{2n}}{2}} = \frac{2x^{3n-1}}{x^{2n}} = 2x^{n-1}$$

$$x = x \rightarrow n = n-1 \rightarrow n = 1 \rightarrow 2x^{n-1} = 2x^0 = 2$$

$$y = \frac{\sqrt{x}+1}{\sqrt{x}-1} \rightarrow \sqrt{x}y - y = \sqrt{x}+1 \rightarrow \sqrt{x}y - \sqrt{x} = y+1 \rightarrow \sqrt{x}(y-1) = y+1$$

$$\rightarrow \sqrt{x} = \frac{y+1}{y-1} \rightarrow x = \left(\frac{y+1}{y-1}\right)^2 \rightarrow f^{-1}(x) = \left(\frac{x+1}{x-1}\right)^2$$

$$f^{-1}'(x) = 2 \left(\frac{x+1}{x-1}\right) \left(\frac{(x-1) - (x+1)}{(x-1)^2}\right) \Rightarrow f^{-1}'(x) = 2 \left(\frac{x+1}{x-1}\right) (-1) = -2 \left(\frac{x+1}{x-1}\right)$$

$$[-1, 0] \rightarrow \frac{f(x) - f(-1)}{x - (-1)} = \frac{1 - (1 - a)}{x + 1} = \frac{a}{x+1} = -1 \rightarrow a = -1$$

$$f(x) = (x^2+1)^{\frac{1}{2}} (x - \frac{1}{2} + 1)$$

$$f'(x) = \frac{1}{2}(x^2+1)^{-\frac{1}{2}}(2x) + (x^2+1)^{\frac{1}{2}}(1) = \frac{x}{\sqrt{x^2+1}} + \sqrt{x^2+1}$$

$$f'(1) = \frac{1}{\sqrt{2}} + \sqrt{2} = \frac{1}{\sqrt{2}} + \frac{\sqrt{2}}{1} = \frac{1 + 2}{\sqrt{2}} = \frac{3}{\sqrt{2}}$$

$$y = \sin x \cos^2 x \quad \left[\frac{\pi}{4}, \frac{\pi}{2}\right] \quad \frac{f(\frac{\pi}{4}) - f(\frac{\pi}{2})}{\frac{\pi}{4} - \frac{\pi}{2}} = \frac{-1 - 0}{-\frac{\pi}{4}} = \frac{4}{\pi}$$

$$y = \sin^2 x - \cos^2 x \quad \left[\frac{\pi}{4}, \frac{\pi}{2}\right] \quad \frac{f(\frac{\pi}{4}) - f(\frac{\pi}{2})}{\frac{\pi}{4} - \frac{\pi}{2}} = \frac{1 - 0}{-\frac{\pi}{4}} = -\frac{4}{\pi}$$

$$\frac{\textcircled{1}}{\textcircled{2}} = \frac{\frac{4}{\pi}}{-\frac{4}{\pi}} = -1$$